Sr Questions Answers Choice

. Chemical Coordination

. Mechanical Coordination
. Nervous Coordination

. Electrical Coordination

1 Which type of coordination is present in plants:

. Lungs

. Brain

. Nose

. Muscles

2 The respiratory centre is present in :

. 1-5 years

. 5-10 years

. 10-15 years
. 15-20 years

3 The average life for donated kidney is.

. Pentonial Dialysis
. Haemodialysis

. Kidney transplant
. Lithotripsy

4 A methods for the removal of kidney stone is.

. Surgery

. Medicines

. Electrical Shock waves

. Non-Electrical shock waves

5 During lithotripsy stone is removed by.

6 The typical volume of urine produced by an adult in liters per day is.

. Sodium lons
. Water
. Potassium lon

7 Urine contains the least amount of.

. Blood cells &amp; Proteins
. Fats &mp; Proteins

. Fats &amp; Salts

. Salts &amp; Proteins

8 What are not filtered through glomerular capillaries?

. 4 litre
. 1.3 litre
. 1.4 litre
. 3 litre

9 In an adult man the average urine formation in a day is.

. Urea, water and salts

. Salts, water and carbon dioxide
. Urea and water

. Urea and salts

10 The waste products secreted by kidneys contains.

.9.3 gl
.1.87 g/l
117 g/l
.0.75 g/l

1" Amount of Urea in normal chemical composition is.

. Renal cortex

. Renal medulla

. Renal Pyramids
. renal Pelvis
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12 The longitudinal section of kidney shows the outer part. CB:
D



